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COMPETENCIA: MATRICES 
Determinante de la matriz 

Le recuerdo que el determinante es un solo  

𝒅𝒆𝒕 (𝑬) 𝒐| 𝑬|           
 

𝑬 = (
𝟒 𝟐
𝟓 −𝟑

)        𝒅𝒆𝒕 (𝑬) = [( )( )] − [( )( )] = 

 

     𝒅𝒆𝒕 (𝑬) = [( )] − [( )] =      𝒅𝒆𝒕 (𝑬) = _______ 
 

𝒅𝒆𝒕 (𝑱) 𝒐| 𝑱|              𝑱 = (
−𝟓 𝟒
−𝟑 𝟐

)  

 
           

    𝒅𝒆𝒕 (𝑱) = [( )( )] − [( )( )] = 
 
     𝒅𝒆𝒕 (𝑱) = [( )] − [( )] =           𝒅𝒆𝒕 (𝑱) = _____ 
 

𝑭 = (
𝟏 −𝟐
𝟒 −𝟓

) 

 
𝒅𝒆𝒕 (𝑭) = [( )( )] − [( )( )] = 
 
     𝒅𝒆𝒕 (𝑭) = [( )] − [( )] =                     𝒅𝒆𝒕 (𝑭) = _____ 
 

    𝑨 = (
𝟏 𝟐

−𝟑 −𝟒
)         

 
𝒅𝒆𝒕 (𝑨) = [( )( )] − [( )( )] =                  
 

    
  𝒅𝒆𝒕 (𝑨) = [( )] − [( )] =                  𝒅𝒆𝒕 (𝑨) = _____ 
 


